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1. Derive the mean and variance of binomial distribution. 08 4014 | L2 ,
The number of telephone lines busy at an instant of time is a binomial variate with 401.4 7
probability 0.1. If 10 lines are chosen at random, what is the probability that
2, 07 L3
a) no line is busy b) all lines are busy c¢) at least one line is busy
d) at most 2 lines are busy, i ) o
1 07 | 4014 ; L3
The probability that a newsreader commits no mlstake in reading the news is 3 l
3 Find the probability that, on a particular news broadcast, he commits !
a) only 2 mistakes b) more than 3 mistakes c) at most 3 mistakes. ‘
In a normal distribution 31% of the items are under 45 and 8% of the items are over |07 (4014 | L3
4. 64. Find the mean and standard deviation of the distribution, given A(0.5)=0.19, !
A(lLd=042 _1
I 07 |4014 | L3 |
The pdf of a continuous random variate x is given by p(x) =ke ™ ,—c0 <x <o0. Find ::
5 k. Also find the mean, variance and standard deviation of the distribution.
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5 probability 0.1, If 10 lines are chosen at random, what is the probability that a) no o7
" line is busy b) all lines are busy c) at least one line is busy
d).at most 2 lines arc busy. -
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The probability that a newsreader commits no mistake in reading the news is g
% Find the probability that, on a particular news broadcast, he commits a) only 2
mistakes b) more than 3 mistakes c) at most 3 mistakes. L -
In & normal distribution 31% of the items are under 45 and 8% of the items arc over | 07 4014 | L3
4. 64. Find the mean and standard deviation of the distribution, given A(0.5)=0.19, :
A(l4)=0.42 N o
s The pdf of a continuous 1andom variate x is given by p(x) = ke - ~0<x <o, Find 07 4014 ) L3
k. Also find the mean, variance and standard deviation of the distribution. B




| exceed Rs.3000 each on two consecutive days.

The range of a random variable X={1,2,3,...} and the probabilities of X are such that

k
P(X=k)= E— =123, Find the value of Aand P(0 < X <3)

The average daily turnout in a medical store is Rs.10000 and the net profit is 8%. If
the turnout has an exponential distribution, find the probability that the net profit will

07

a4

A fair coin is tossed thrice. The random variables X and Y are defined as follows:

X=0or 1 accordingly as head or tail occuss in the first toss ; Y = Number of heads.
a) Determine the marginal distributions of X and Y. b) Determine the jointg
distribution of X and Y ¢) Obtain the expectations of X, Y and XY, Also find :

: standard deviations of X and Y. d) Compute covariance and correlation of X 3119_}_’;,.,,.,_} B

- Each year a man trades his car for a new car in 3 brands of the popular company !

Maruthi Udyog Limited. If he has a Standard he trades it for Zen. If he has a Zen, |
he trades for Esteem. If has an Esteem, he is just likely to trade for a new Esfeem or |
for a Zen or a Standard one. In 1996, he bought his first car which was Esteem.

i)Find the probability that he has a) 1998 Esteem b) 1998 Standard
¢) 1999 Zen d) 1999 Esteem.

ii) In the long run, how often will he have Esteem?

The range of a random variable X={1,2,3,...} and the probabilities of X are such that |

k
P(X =k)= i» k=123,..... Find the value of Aand P(0 < X <3)
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The average dally turnout in a medical store is Rs.10000 and the net profit is 8%. If
the turnout has an exponential distribution, find the probability that the net profit will
exceed Rs.3000 each on two consecutive days.

A fair coin is tossed thrice. The random variables X and Y are defined as follows:
X=0or I accordingly as head or tail occurs in the first toss. Y = number of heads.
a} Determine the marginal distributions of X and Y. b) Determine the joint
distribution of X and Y ¢) Obtain the expectatlons of X, Y, XY. Also find standard
| deviations of X and Y. d) Compute covariance and correlation of X and Y.

Each year a man trades his car for a new car in 3 brands of the popuia; company
Maruthi Udyog Limited. If he has a Standard he trades it for Zen. If he has a Zen,
he trades for Esteent. 1f has an Esteem, he is just likely to trade for a new Esteem or
for a Zen or a Standard one. In 1996, he bought his first car which was Esteem.
i)Find the probability that he has a) 1998 Esteem b) 1998 Standard

c) 1999 Zen d) 1999 Esteem.

ii) In the long run, how often will he have Esteem?
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